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CD–2004 

B. Com. (Part I) EXAMINATION, 2020 

(Old Course) 

(Group–I : Accounting) 

Paper Second 

BUSINESS MATHEMATICS 

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- ¼v½ Qyu % 
6 3 24 5 xx x x e+ − −  

dk x ds lkis{k vodyu dhft,A  
Differentiate the function : 

6 3 24 5 xx x x e+ − −  

with respect to x. 

¼c½ Qyu % 
2 22u ax hxy by= + +  

ds fy, ;wyj izes; dk lR;kiu dhft,A  
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Verify Euler’s theorem for the function : 

2 22u ax hxy by= + +  

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ Qyu % 
3 22 15 36 11y x x x= − + +  

ds mPpre o fuEure ewY; Kkr dhft,A 
Find the maximum and minimum values of the 

function : 

3 22 15 36 11y x x x= − + +  

¼c½ y?kqx.kd lkj.kh dh lgk;rk ls eku Kkr dhft, % 

7.2 × 8.3 × 0.94 

Obtain the value using log tables : 

7.2 × 8.3 × 0.94 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    

(UNIT—2) 

2- ¼v½ fuEufyf[kr lkjf.kd eas 10, 11, 12 ds lg[kaM fudkfy;s % 

10 13 16

11 14 17

12 15 18

  

Find the cofactors of 10, 11, 12 in the following 

determinant : 

10 13 16

11 14 17

12 15 18
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¼c½ ;fn % 

1 2 3
A

4 5 6

 
=  
 

 

vkSj          
7 8

B 9 10

11 12

 
 =  
  

 

rks AB dk eku Kkr dhft,A  

If : 

1 2 3
A

4 5 6

 
=  
 

 

and                

7 8

B 9 10

11 12

 
 =  
  

 

find the value of AB.  

vFkokvFkokvFkokvFkok    

(Or) 

¼v½ fl) dhft, % 

      

2

2 2 2 2

2

1

1 1 .

1

a ab ac

ab b bc a b c

ac bc c

+

+ = + + +

+

  

Prove that : 

      

2

2 2 2 2

2

1

1 1 .

1

a ab ac

ab b bc a b c

ac bc c

+

+ = + + +

+
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¼c½ ewy LrEHk fØ;k }kjk vkO;wg % 

1 2 3

A 2 5 7

1 4 4

 
 =  
 − 

  

dk O;qRØe Kkr dhft,A  

Find the inverse of the matrix :   

1 2 3

A 2 5 7

1 4 4

 
 =  
 − 

 

by using elementary column operation.   

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- fuEufyf[kr js[kh; izØeu leL;k dks xzkQh; fof/k ls gy 

dhft, % 

vf/kdrehdj.k dhft, % 

z = 10x + 30y 

tcfd % 

x + 2y ≤  20 

x + 5y ≤  35 

x + 4y ≤  48 

    x, y ≥  0 

Solve the following linear programming problem by 

graphical method : 

Max. : 

z = 10x + 30y 
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Such that : 

x + 2y ≤  20 

x + 5y ≤  35 

x + 4y ≤  48 

    x, y ≥  0. 

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ A rFkk B dh vk;q esa 9 : 4 dk vuqikr gSA lkr o”kZ ckn 
mudh vk;q dk vuqikr 5 : 3 gksxkA orZeku esa nksuksa dh 
vk;q fudkfy,A 
The ages of A and B are in the ratio of 9 : 4. Seven 

years hence, the ratio of their ages will be 5 : 3. Find 

their present ages.  

¼c½ 15 vkneh fdlh [ksrh dks 12 ?kaVs izfrfnu dke djds 
14 fnuksa esa tksrrs gSa rks 21 vkneh 10 ?kaVs izfrfnu dke 
djds fdrus fnuksa esa tksrsaxs \ 
15 men plough a land in 14 days working 12 hours 

daily. How many days will be taken by 21 men to 

plough the same land working 10 hours daily ? 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- ¼v½ dksbZ /ku lk/kkj.k C;kt ls nks o”kks± esa ` 1,200 rFkk 
3 o”kks± esa ` 1,300 gks tkrk gSA ewy/ku rFkk C;kt dh nj 
izfr o”kZ fudkfy,A 
A certain sum at simple interest becomes ` 1,200 in 

2 years and ` 1,300 in 3 years. Find the principal 

and rate of interest per annum.  
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¼c½ fdrus o”kks± eas 5% izfr o”kZ C;kt dh nj ls ` 1,200 dk 
pØo`f) C;kt ` 573 gks tk;sxk ;fn C;kt dh x.kuk 
izfr o”kZ dh tkrh gS \ 
In what time a sum of ` 1,200 will earn ` 573 as 

compound interest at the rate of 5% per annum, if 

the interest is added annually.  

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ ` 25,000 dk 2 o”kZ dk pØo`f) C;kt ls feJ/ku D;k 
gksxk ;fn mŸkjksŸkj o”kks± dh nj 4% rFkk 5% okf”kZd  
gks \ 
How much will ` 25,000 amount to in 2 years at 

compound interest if the rates for the successive 

years be 4% and 5% per year ? 

¼c½ 3% pØo`f) C;kt dh nj ls 12 o”kks± ds fy, ` 200 dh 
okf”kZdh dk feJ/ku] orZeku ewY; ,oa C;kt Kkr dhft,A 
Find the amount, present value and interest of an 

annuity of ` 200 for 12 years, the rate of compound 

interest is 3% per annum.  

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- ¼v½ 15&20 oxZ ds fy, vko`fŸk Kkr dhft,A vkSlr  
19 bdkbZ gS % 

oxZoxZoxZoxZ    vko`fŸkvko`fŸkvko`fŸkvko`fŸk    

5—10 2 

10—15 2 

15—20 ? 

20—25 4 

25—30 4 
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Determine the frequency of the class interval  

15—20. The average being 19 units : 

Class Frequency 

5—10 2 

10—15 2 

15—20 ? 

20—25 4 

25—30 4 

¼c½ ;fn nw/k dh dher 20% ?kVk nh tk, rks miHkksx dks 

fdrus izfr’kr c<+k;k tk, fd [kpZ igys tSlk gh jgs \ 

How many percent should the use of milk be 

increased if the price of milk is decreased by 20% so 

that the expenditure remains unchanged ? 

vFkokvFkokvFkokvFkok    

(Or) 

¼v½ ,d ,ts.V udn fcØh ij 5% deh’ku rFkk m/kkj fcØh 

ij 9% deh’ku ysrk gSA ;fn dqy feykdj mls dqy 

fcØh dk 1
7 %
2

 feyk gks rks nksuksa izdkj dh fcØh dk 

vuqikr Kkr dhft,A  

An agent charges 5% commission on cash sales and 

9% on credit sales. If his overall return is 
1

7 %
2

 on 

the total sales, find the ratio between the two  

sales.  
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¼c½ ,d fuekZrk vius eky dks ykxr ls 20% vf/kd ij 
cspuk pkgrk gSA og xzkgdksa dks bl vafdr ewY; ij x% 
NwV nsrk gSA fQj Hkh og 5% ykHk dekrk gSA x dk eku 
crkb,A  
A manufacturer wants to charge the price of his 

goods at 20% above cost price. He allows x% 

discount to the customers on this marked price and 

still makes a profit of 5%. Find the value of x.  
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